IO TOEILT,

MB5061 - Assembly Instructions Universal Bed Mounted Tire Carrier

MB5061 UNIVERSAL BED MOUNTED
TIRE CARRIER

ASSEMBLY INSTRUCTIONS

motobilt.com | 334-219-2333



WO TOEBIL T,

MB5061 - Assembly Instructions Universal Bed Mounted Tire Carrier

CONTENTS

MB5061-03
MB5061-01 Qty 2
Qty 1

J
MB5061-02 o

Qty 1

MB5061-04
Qty 4

5 S

1/4"-20 x 1" HEX BOLT 1/4" FLAT WASHER 1/4"-20 NYLOCK HEX NUT
Qty 12 Qty 24 Qty 12

<5

3/8"-16 x 1" HEX BOLT 3/8" FLAT WASHER 3/8"-16 NYLOCK HEX NUT
Qty 4 Qty 8 Qty 4

motobilt.com | 334-219-2333



WO TOEBIL T,

MB5061 - Assembly Instructions Universal Bed Mounted Tire Carrier

ASSEMBLY

1/4" FLAT WASHER

1/4" FLAT WASHER
1/4"-20 x 1" HEX BOLT \ 1/4"-20 NYLOCK HEX NUT

MB5061-01

USE THE MOUNTING HOLES TO ADJUST

MB5061-01 TO YOUR TIRE SIZE.
* TIRE SHOULD BE FREE TO MOVE.

MB5061-02 \ MB5061-03

motobilt.com | 334-219-2333



WO TOEBIL T,

MB5061 - Assembly Instructions Universal Bed Mounted Tire Carrier

ASSEMBLY

OPTIONAL DUAL TIRE

1/4" FLAT WASHER 1/4" FLAT WASHER
1/4"-20 x 1" HEX BOLTX // 1/4"-20 NYLOCK HEX NUT
= .'/ -'/\\_,] — + —

MB5061-01

USE THE MOUNTING HOLES TO ADJUST
MB5061-01 FORWARD TO YOUR TIRE SIZE.
* TIRE SHOULD BE FREE TO MOVE.

MB5061-02 . A WA MB5061-03
QTY 2 B3

motobilt.com | 334-219-2333



WO TOEBIL T,

MB5061 - Assembly Instructions Universal Bed Mounted Tire Carrier

MOUNTING

3/8"-16 x 1" HEX BOLT

3/8" FLAT WASHER

DRILL HOLE TO 7/16"

WHEN LOCATING MOUNTING HOLES ALLOW
ENOUGH ROOM TO ATTACH REAR TIRE STRAP.
USE THE WIDEST POSSIBLE MOUNTING
POSITION WHILE SETTING ON TOP OF TRUCK

ED RIBS TO INSURE STABILITY.

motobilt.com | 334-219-2333



WO TOEBIL T,

MB5061 - Assembly Instructions Universal Bed Mounted Tire Carrier

MOUNTING

3/8"-16 x 1" HEX BOLT

3/8" FLAT WASHER

MB5061-04

3/8" FLAT WASHER

\3/8"-16 NYLOCK HEX NUT

motobilt.com | 334-219-2333



